Constants:

ke = 1/4meo =8.98755x 109 N-m?.C~2
€o = 885x10 '2C?/N-m?
B, = 4nx1077T.-m/A
2 = 1/pgeg N (3 x 108 m/s)2
e = 1.60218x10°'°C

Maxwell’s equations, Lorentz, & continuity
(without polarization or magnetization)
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Electric Force & Field (static case):
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Electric Potential (static case):
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Field transformations
(primed frame moves with v relative to unprimed along x)
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Current & Resistance:
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Vector Calculus:
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Relativity

’
Atfioving = YAtstasionary = YAty
L

’ stationary Lp

‘moving v v

x" =v(x—vt)

p =ymv
’
v+ vai , Vobi -V
Vobj = v/ Vobj = VYV
obj 1— )
1+ o2

spherical

)

or

("ve)



